EARAROBEEIERT — 2 N— IBISH —F

20165 7H290 (&) 9EIEH6H

M C2- H5%3m®L (xwlw | lmEmml - |5 5) wom 8
[A&4£] 1 7% :300,000" ~ 23#%&:72,000 M  33&:36,000”  437&:24,000H . 57 :18,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Kih—& :33. -4-3- . — AREE (FEH)
11111 TY&—4 4 6 an 1(3_3)2 4-4-3-3 | 40.9 4 (4_7“7) ﬁ%aﬂ%
RNTIAL7z0—- B:57415 ®)| BE—
S N . KFRAE :33. 76— X = HEH—ER (BR)
25| | > TY-X o4 R 1(33/34)4 6-7-6-4 | 40.7 5 (4+313) _EH
L:dr7—3IUT7> B UTINAR=IL Ebre]
> 5 | REFR 1:33.6 2-2-2-1 |41.5| — 2 503 | EAhdEiE (ER)
3/8/8 7]:'7»177’( - 56.0 (1 1/4) (-4) HEETF
L7 ReA Y L—> B:/—Ty—<> 2 UR KIS
TRE R : -1-1- — KRR (Fk)
4lglg|#rvLyEX 4| 1(.33/%4.)8 1-1-1-1 | 41.8 6 (ﬂz) SRy
R HATFAF— BT HAT E&1415
. s :34. ~6-7- . - BAERR (k)
5 4|7V I/ K="T7— #3050 1(314)0 eS| ae 1 g) FANT
R:FvIT BiALLIYTE—b =Eiie
—: # 7 | MNERF 1:34.7 5-5-4-6 | 42.3| — 8 454 | EEAME (EIH)
6l717|7—7T%— 56.0 A (o) | ) PR MEA
R:xA21=G7—2 B:E—Fq1vy>a ZRE7 7 — L
= > JNRE— . —3-5— — FERE (BA
. N CEDY D >3 IR 1.(335).2 3-3-5-7 | 42.8 3 :2&2) %iﬁgf
L:g=Z/F¥LLy b BRI K-T ==
. o4 | BElIER 1:35.5 8-9-8-8 |42.4| — 7 441 | E)II¥EE (EA)
3 2 | NHY LR — 56.0 (1 1/2) (+4) &) SELTATSK
LNRIVTSY BIRXTL-IL pait e
— N MAFER :36. -8-9~ . — FWHELE (EHE
9 6 FqaOrgxr=1 3 5/3_0 1(336)0 9-8-9-9 | 42.9 9 (4_(;4) ﬁﬁ%%@
Rihrexy BFAOLTITU— RS S—UELX
® I—F—@EBIERL
13—7F— 9,8,3,1,7,5,4,2,6
Ao=5"= 9,8,3,1,7,4,5,6,2
3T—7— 9,8,1,7,3,5,4,2,6
40—F— (8,9),1,5,4,7,3,2,6
[ RN
B 1 930H 794K 1-5 940M & 1-5 6,950 &R 1-5-8 4,330
# B 1 1504 1-8 430 B E 19 8,270 EE 1-5-8 46,0504
5 200M 5-8 410 B H 1-5 15,120
8 140/

ABICOVWTRDTEEERROODE. TR LIV,




